CRYPTOQUIP
IQAJNDHQGBIKA TLS AGI

RHQODIJP LT SIJDDP QOIXHID
NLSRISQ JSLMKR OHXAMSIQ:

AGI GJDD LT TSIJBI.

Saturday’s Cryptoquip: IF ANYBODY WOULD
LIKE TO BE A SUCCESSFUL REAL-ESTATE
DEVELOPER, THEY HAVE TO KNOW LOTS.

Today’s Cryptoquip Clue: D equals L
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues

to locating vowels. Solution is by trial and error.
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